Journal of Mathematics and Informatics Vol. 1, 2013-14, 76-88 ISSN: 2349-0632 (P), 2349-0640 (online) Published on 27 May 2014 www.researchmathsci.org



Some properties of fuzzy star-shaped sets

Dong Qiu¹ and **Chong-xia Lu²**

College of Mathematics and Physics Chongqing University of Posts and Telecommunication Chongqing – 400065, Chongqing, China ¹E-mail: <u>dongqiumath@163.com</u> and ²E-mail: <u>lcx19882012@163.com</u>

Received 2 April 2014; accepted 25 May 2014

Abstract. In this paper, we study the star-shapedness for fuzzy sets. Particularly, we clarify the exact relationships among the concepts of star-shaped fuzzy sets, quasi-star-shaped fuzzy sets, pseudo-star-shaped fuzzy sets and generalized star-shaped fuzzy star-shaped sets, and we obtain some important properties of these different types of star-shapedness.

Keywords: Fuzzy sets; Fuzzy star-shapedness; Fuzzy convexity

AMS Mathematics Subject Classification (2010): 03E72; 06G65

1. Introduction

The fuzzy set theory was introduced initially by Zadeh [32] in 1965. In the theory and applications of fuzzy sets, convexity plays a most useful role. From the very first, Zadeh [32] recognised its importance, and the property has been exploited in many ways involving convex fuzzy set. For example, convexity is central to the metric definitions of Klement, Puri and Ralescu [14] and Diamond and Kloeden [6, 7, 8], and to the topological properties of the corresponding metric spaces of fuzzy convex sets [10, 13]. Following the seminal work of Zadeh on the definition of a convex fuzzy set, Ammar and Metz defined another type of convex fuzzy sets in [1]. To avoid misunderstanding, Zadeh's convex fuzzy sets were called quasi-convex fuzzy sets. A lot of scholars have discussed various aspects of the theory and applications of fuzzy convex analysis [4, 5, 11, 12, 17, 18, 19, 20, 23, 24, 26, 27, 31].

However, Nature is not convex and, apart from possible applications, it is of independent interest to see how far the supposition of convexity can be weakened without losing too much structure. Star-shaped sets are a fairly natural extension and this note defines the notion of fuzzy star-shaped sets and explores some of their properties. In [2], Brown introduced the concept of star-shaped fuzzy sets, in [9] Diamond defined another type of star-shaped fuzzy sets (f.s., for short), and in [22] Qiu given a new type of star-shaped fuzzy sets is different with the other two and established some of the basic properties of this family of fuzzy sets. In order to distinguish between these three star-shaped fuzzy sets (f.q-s., for short) and Qiu's star-shaped fuzzy sets were called pseudo-star-shaped fuzzy sets (f.g-s., for short). Recently, the research of fuzzy star-shaped (f.s.) sets have been again attracting the deserving attention [3, 28, 33], motivated both by Diamond's

research and by the importance of the concept of fuzzy convexity [15, 16, 25, 29, 30].

In this paper, for simplicity, we consider only the star-shaped fuzzy sets defined on the Euclidean space. But it is not difficult to generalize most of the results obtained in the paper to the case that starshaped fuzzy sets are defined in linear space over real field or complex field. In Section 2, we will recall some basic concepts related to this paper and generalize star-shapedness of the normal fuzzy sets to general fuzzy sets. In Section 3, we clarify the exact relationships among the concepts of f.s. sets, f.q-s. sets and f.p-s. sets, and we will study some important properties of these different types of star-shapedness.

2. Preliminaries

Let $x, y \in \mathbb{R}^n$, the line segment \overline{xy} joining x and y is the set of all points of the form $\alpha x + \beta y$ where $\alpha \ge 0, \beta \ge 0, \alpha + \beta = 1$.

(1) A set $S \subseteq \mathbb{R}^n$ is said to be convex if for each pair points $x, y \in S$, it is true that $\overline{xy} \in S$.

(2) A set $S \subseteq \mathbb{R}^n$ is said to be star-shaped with respect to a point $x \in \mathbb{R}^n$ if for each point $y \in S$, it is true that $\overline{xy} \subseteq S$. A set *S* is simply said to be star-shaped, which means that there is some point x in \mathbb{R}^n such that *S* is star-shaped with respect to it. The kernel *kerS* of *S* is the set of all points $x \in S$ such that $\overline{xy} \subseteq S$ for each $y \in S$. For convenience, we assume the empty set $\phi \subseteq \mathbb{R}^n$ is also a convex set and a star-shaped set.

Most results on ordinary convex sets which are used in this paper can be found in [11,24]. A fuzzy set μ on X is defined by its membership function $\mu(x)$ which is a mapping from X into [0,1]. An α -cut set of μ is

$$\left[\mu\right]^{\alpha} = \left\{x \in X : \mu(x) \ge \alpha\right\},\$$

where $\alpha \in (0,1]$, and we separately specify the support set $[\mu]^0$ of μ to be the closure of the union of $[\mu]^{\alpha}$ for $\alpha \in (0,1]$, i.e., $[\mu]^0 = \overline{\bigcup_{\alpha \in (0,1]} [\mu]^{\alpha}}$.

Denote by F(X), the family of all fuzzy subsets of X. Let $\mu_1, \mu_2 \in F(X)$, then μ_1 is said to be included in μ_2 , denoted by $\mu_1 \subseteq \mu_2$, if and only if $\mu_1(x) \leq \mu_2(x)$ for each $x \in X$. Thus we have that $\mu_1 \subseteq \mu_2$ if and only if $[\mu_1]^{\alpha} \subseteq [\mu]^{\alpha}$ for all $\alpha \in [0,1]$.

Definition 2.1. [1] A fuzzy set $\mu \in F(\mathbb{R}^n)$ is quasi-convex if

$$\mu(\lambda x + (1 - \lambda)y) \ge \mu(x) \land \mu(y)$$

for all $x, y \in \mathbb{R}^n$ and $\lambda \in [0,1]$, and a fuzzy set $\mu \in F(\mathbb{R}^n)$ is convex if

 $\mu(\lambda x + (1 - \lambda)y) \ge \lambda \mu(x) + (1 - \lambda)\mu(y)$

for all $x, y \in [\mu]^0$ and $\lambda \in [0,1]$.

It is obvious that every convex fuzzy set $\mu \in F(\mathbb{R}^n)$ is quasi-convex.

Definition 2.2. [28] A fuzzy set $\mu \in F(\mathbb{R}^n)$ is said to be fuzzy star-shaped (f.s. for short) with respect to $y \in \mathbb{R}^n$, if

$$\mu(\lambda x + (1 - \lambda)y) \ge \mu(x)$$

for all $x \in \mathbb{R}^n$ and $\lambda \in [0,1]$.

The following describes two more other types of star-shapedness are derived from the concepts quasi-convex fuzzy sets and convex fuzzy sets.

Definition 2.3. [2] A fuzzy set $\mu \in F(\mathbb{R}^n)$ is said to be fuzzy quasi-star-shaped (f.q-s. for short) with respect to $y \in \mathbb{R}^n$, if

$$\mu(\lambda x + (1 - \lambda)y) \ge \mu(x) \land \mu(y)$$

for all $x \in \mathbb{R}^n$ and $\lambda \in [0,1]$.

Definition 2.4. [22] A fuzzy set $\mu \in F(\mathbb{R}^n)$ is said to be fuzzy pseudo-star-shaped sets (f.p-s. for short) with respect to $y \in [\mu]^0$, if

$$\mu(\lambda x + (1 - \lambda)y) \ge \lambda \mu(x) + (1 - \lambda)\mu(y)$$

for for all $x \in [\mu]^0$ and $\lambda \in [0,1]$.

Definition 2.5. [22] Let $\ker(\mu)$ (respectively, $p - \ker(\mu)$, $q - \ker(\mu)$) be the totality of $y \in \mathbb{R}^n$ such that μ is f.s. (respectively, f.p-s., f.q-s.) with respect to y.

Definition 2.6. [22] The fuzzy hypograph of μ denoted by $f \cdot hpy(\mu)$, is defined as

 $f.hpy(\mu) = \{(x,t): x \in [\mu]^0, t \in [0,\mu(x)]\}.$

3. Main results

Now we will establish our main theorems.

Lemma 3.1. [21] Let $\mu \in F(\mathbb{R}^n)$ be f.s. with respect to $y \in \mathbb{R}^n$. Then $\mu(y) = \sup_{x \in \mathbb{R}^n} \mu(x)$.

Lemma 3.2. [21] If a set $A \subseteq \mathbb{R}^n$ is star-shaped with respect to $y \in \mathbb{R}^n$, then \overline{A} is star-shaped with respect to y.

Lemma 3.3. [21] A fuzzy set $\mu \in F(\mathbb{R}^n)$ is f.s. with respect to *y* if and only if its each non- empty α -cut set is star-shaped with respect to *y* for all $\alpha \in [0,1]$ or $[\mu]^0 = \phi$.

Lemma 3.4. [21] Let a fuzzy set $\mu \in F(\mathbb{R}^n)$ be f.s. with respect to some points in \mathbb{R}^n and $\beta = \sup_{x \in \mathbb{R}^n} \mu(x)$. If $[\mu]^0 \neq \phi$, then ker $(\mu) \subseteq \ker[\mu]^{\alpha}$ for all $\alpha \in [0, \beta]$.

Theorem 3.1. For a fuzzy set $\mu \in F(\mathbb{R}^n)$, the following statements hold:

(1) if μ is f.s. with respect to y, then it is f.q-s. with respect to the same point;

(2) if μ is f.p-s. with respect to y, then it is f.q-s. with respect to the same point;

(3) μ is f.q-s. with respect to y and $\mu(y) = \sup_{x \in \mathbb{R}^n} \mu(x)$ if and only if it is f.s. with respect to the same point;

(4) if μ is f.p-s. with respect to y and $\mu(y) = \sup_{x \in \mathbb{R}^n} \mu(x)$, then it is f.s. with respect to the same point.

Proof. (1) Let μ is f.s. with respect to y. By Lemma 3.1, we have $\mu(y) \ge \mu(x)$ for all $x \in \mathbb{R}^n$. Thus, we get that

$$\mu(\lambda x + (1 - \lambda)y) \ge \mu(x) = \mu(x) \land \mu(y)$$

for all $x \in \mathbb{R}^n$ and $\lambda \in [0,1]$.

(2) If $x \in \mathbb{R}^n - [\mu]^0$, then $\mu(x) = 0$, that is, $\mu(x) \wedge \mu(y) = 0$. Thus, we get that $\mu(\lambda x + (1 - \lambda)y) \ge 0 = \mu(x) \wedge \mu(y)$

for all $\lambda \in [0,1]$. If $x \in [\mu]^0$, then

 $\mu(\lambda x + (1 - \lambda)y) \ge \lambda \mu(x) + (1 - \lambda)\mu(y) \ge \mu(x) \land \mu(y)$

for all $\lambda \in [0,1]$.

(3) Sufficiency. It is obvious from (1) and Lemma 3.1.

Necessity. If μ is f.q-s. with respect to y and $\mu(y) = \sup_{x \in \mathbb{D}^n} \mu(x)$, then we have

$$\mu(\lambda x + (1 - \lambda)y) \ge \mu(x) \land \mu(y) = \mu(x)$$

for all $x \in \mathbb{R}^n$ and $\lambda \in [0,1]$.

(4) It is obvious from (2) and (3).

Remark 3.1. The inverse statements of (1), (2) and (4) do not hold in general as shown in the following examples.

Example 3.1. The fuzzy set $\mu \in F(\mathbb{R})$ with

$$\mu(x) = \begin{cases} \frac{|\sin(x)|}{2}, & \text{if } x \in [-\pi, \pi], \\ 0, & \text{otherwise} \end{cases}$$

is f.p-s. and f.q-s with respect to y = 0. But it is not f.s. with respect to y = 0, because of $y \notin [\mu]^{\alpha}$ and $[\mu]^{\alpha} \neq \phi$ for all $\alpha \in (0, 1/2]$.

Example 3.2. The fuzzy set $\mu \in F(\mathbb{R})$ with $\mu(x) = e^{-|x|} / 2$ is f.s. and f.q-s. with respect to y = 0. But it is not f.p-s. with respect to y = 0.

Theorem 3.2. A fuzzy set $\mu \in F(\mathbb{R}^n)$ is f.q-s. with respect to $y \in [\mu]^0$ and $\mu(y) \neq 0$ if and only if its α -cut sets are star-shaped with respect to y for all $\alpha \in (0, \mu(y)]$.

Proof: *Necessity.* If μ is f.q-s. with respect to is f.q-s. with respect to $y \in [\mu]^0$, then

$$\mu(\lambda x + (1 - \lambda)y) \ge \mu(x) \land \mu(y)$$

for all $x \in \mathbb{R}^n$ and $\lambda \in [0,1]$. For any $\alpha \in (0, \mu(y)]$, let $x \in [\mu]^{\alpha}$. Then we have that $x, y \in [\mu]^{\alpha}$. From the above inequality we get that

$$\mu(\lambda x + (1 - \lambda)y) \ge \alpha , \ \lambda \in [0, 1]$$

that is, $\overline{xy} \subseteq [\mu]^{\alpha}$.

Sufficiency. For any $x \in \mathbb{R}^n$, if $\mu(x) = 0$, then

И

$$\mu(\lambda x + (1 - \lambda)y) \ge 0 = \mu(x) = \mu(x) \land \mu(y)$$

for all $\lambda \in [0,1]$. If $0 < \mu(x) \le \mu(y)$, then let $\alpha = \mu(x) \in (0, \mu(y)]$. Thus, we have that x, $y \in [\mu]^{\alpha}$. Since α -cut set is star-shaped with respect to y, that is,

$$(\lambda x + (1 - \lambda)y) \ge \alpha = \mu(x) \land \mu(y)$$

for all $\lambda \in [0,1]$. If $\mu(x) > \mu(y)$, let $\alpha = \mu(y) \in (0, \mu(y)]$. Thus, we have that $x, y \in [\mu]^{\alpha}$. Since α -cut set is star-shaped with respect to y, that is,

$$\mu(\lambda x + (1 - \lambda)y) \ge \alpha = \mu(x) \land \mu(y)$$

for all $\lambda \in [0,1]$.

Theorem 3.3. If a fuzzy set $\mu \in F(\mathbb{R}^n)$ is f.q-s. with respect to $y \in [\mu]^0$ and $\mu(y) \neq 0$, then $[\mu]^0$ is star-shaped with respect to y.

Proof: Let

$$A = \bigcup_{\alpha \in (0,1]} [\mu]^{\alpha} = \bigcup_{\alpha \in (0,\mu(y)]} [\mu]^{\alpha}.$$

By Theorme 3.2, we have that *A* is star-shaped with respect to *y*. By Lemma 3.2, we get that $\overline{A} = [\mu]^0$ is star-shaped with respect to *y*.

Remark 3.2. In Theorem 3.3, the condition $\mu(y) \neq 0$ is necessary.

Example 3.3. The fuzzy set $\mu \in F(\mathbb{R})$ with

$$\mu(x) = \begin{cases} 0, & \text{if } x \in [-1,1], \\ \frac{2}{\pi} \arctan(|x|-1) & \text{if } x \in \mathbb{R} - [-1,1] \end{cases}$$

is f.q-s. with respect to $y = 1 \in [\mu]^0$. But $[\mu]^0$ is not star-shaped with respect to y = 1, because of $[\mu]^0 = \mathbb{R} - [-1,1]$.

Corollary 3.1. Let a fuzzy set $\mu \in F(\mathbb{R}^n)$ be f.q-s. with respect to some points in \mathbb{R}^n and $A = \{x \in \mathbb{R}^n \mid \mu(x) = 0\}$. If $q - \ker(\mu) \cap A = \phi$, then $q - \ker(\mu) \subseteq \ker[\mu]^{\alpha}$ for all $\alpha \in [0, \beta]$, where $\beta = \inf\{\mu(y) \mid y \in q - \ker(\mu)\}$.

Proof: By Theorem 3.2 and 3.3, we have that $q - \ker(\mu) \subseteq \bigcap_{\alpha \in [0,\beta]} \ker[\mu]^{\alpha} \subseteq \ker[\mu]^{\alpha}$ for all $\alpha \in [0,\beta]$.

Theorem 3.4. If for a fuzzy set $\mu \in F(\mathbb{R}^n)$, the point $y \in \mathbb{R}^n$ satisfies that

$$\mu(y) = \inf_{x \in \mathbb{R}^n} \mu(x).$$

Then μ is f.q-s. with respect to y, that is, $y \in q - \ker(\mu)$. **Proof:** By Definition 2.4, this statement is true, because of $\mu(y) = \inf_{x \in \mathbb{R}^n} \mu(x)$.

Remark 3.3 The inverse statements of Theorem 3.4 do not hold. In Example 3.2, we can get that μ is f.q-s. with respect to y = 0. But $\mu(y) = 1/2 \ge \mu(x)$ for all $x \in \mathbb{R}$.

Theorem 3.5. If a fuzzy set $\mu \in F(\mathbb{R}^n)$ is f.p-s. with respect to $y \in [\mu]^0$, then its α -cut sets are star-shaped with respect to y for all $\alpha \in [0, \mu(y)]$.

Proof: Suppose $\mu(y) \neq 0$. By (2) of Theorem 3.1, Theorem 3.2 and 3.3, we have that α -cut sets of μ are star-shaped with respect to *y* for all $\alpha \in [0, \mu(y)]$. Suppose $\mu(y) = 0$. Let

$$A = \bigcup_{\alpha \in (0,1]} [\mu]^{\alpha}, \text{ i.e., } \overline{A} = [\mu]^{0}.$$

If $x \in A$, that is, $\mu(x) > 0$, then we have

$$\mu(\lambda x + (1 - \lambda)y) \ge \lambda \mu(x) > 0$$

for all $\lambda \in (0,1]$, which implies that $\lambda x + (1-\lambda)y \in A \subseteq \overline{A}$. Since $\lambda = 0$, we have $\lambda x + (1-\lambda)y = y \in \overline{A} = [\mu]^0$. Thus, we get that $\overline{xy} \subseteq \overline{A} = [\mu]^0$.

If $x_0 \in [\mu]^0 - A$, that is, $\mu(x_0) = 0$, then for each neighborhood *V* of x_0 , we have $V \cap A \neq \phi$. Choose $\lambda x_0 + (1 - \lambda)y$ with $\lambda \in (0, 1]$. Since the mapping

$$f(x) = \lambda x + (1 - \lambda)y$$

is continuous in x_0 , for each neighborhood U of $\lambda x_0 + (1 - \lambda) y$ in \mathbb{R}^n , there exists a neighborhood V of x_0 such that if $x \in V$, then $\lambda x + (1 - \lambda) y \in U$, for all $\lambda \in (0,1]$. Since $V \cap A \neq \phi$, let $x \in V \cap A$. Then, we have that $\lambda x + (1 - \lambda) y \in A \cap U$, which implies that

$$\lambda x_0 + (1 - \lambda) y \in A = [\mu]^0,$$

for all $\lambda \in (0,1]$. Since $\lambda = 0$, we have $\lambda x_0 + (1 - \lambda)y = y = [\mu]^0$. Thus, we get that $x_0 y \subseteq [\mu]^0$. Consequently, we obtain that α -cut sets of μ are star-shaped with respect to y for all $\alpha \in [0, \mu(y)]$.

Corollary 3.2. Let a fuzzy set $\mu \in F(\mathbb{R}^n)$ be f.p-s. with respect to some points in $[\mu]^0$ and $\beta = \inf\{\mu(y) \mid y \in p - \ker(\mu)\}$. Then $p - \ker(\mu) \subseteq \ker[\mu]^{\alpha}$ for all $\alpha \in [0, \beta]$. **Proof:** By Theorem 3.5, we have that

$$p - \ker(\mu) \subseteq \bigcap_{\alpha \in [0,\beta]} \ker[\mu]^{\alpha} \subseteq \ker[\mu]^{\alpha}$$

for all $\alpha \in [0, \beta]$.

Theorem 3.6. A fuzzy set $\mu \in F(\mathbb{R}^n)$ is f.p-s. with respect to $y \in [\mu]^0$ if and only if its $f \cdot hpy(\mu)$ is star-shaped with respect to $(y, \mu(y))$.

Proof: Necessity. Let μ be f.p-s. with respect to y and $(x,t) \in f$.hyp (μ) , that is, $x \in [\mu]^0$, $t \in [0, \mu(x)]$. Since μ is f.p-s. with respect to y, for each $\lambda \in [0,1]$, we have

$$\mu(\lambda x + (1 - \lambda)y) \ge \lambda \mu(x) + (1 - \lambda)\mu(y) \ge \lambda t + (1 - \lambda)\mu(y),$$

And by Theorem 3.5, we have $\lambda x + (1 - \lambda) y \in [\mu]^0$. Hence, we get that

$$\lambda(x,t) + (1-\lambda)(y,\mu(y)) \in f.hyp(\mu).$$

Sufficiency. Let $x \in [\mu]^0$ and $(x, \mu(x)) \in f.hyp(\mu)$. By the star-shapedness of $f.hyp(\mu)$, for each $\lambda \in [0,1]$, we have

$$(\lambda x + (1 - \lambda)y, \lambda \mu(x) + (1 - \lambda)\mu(y)) \in f.hyp(\mu).$$

Hence, we get that

$$\mu(\lambda x + (1 - \lambda)y) \ge \lambda \mu(x) + (1 - \lambda)\mu(y)$$

for all $\lambda \in [0,1]$.

Corollary 3.3. Let μ be a fuzzy set. If $f \cdot hpy(\mu)$ of μ is star-shaped with respect to $(y, \mu(y))$ and $\mu(y) = \sup_{y \in \mathbb{R}^n} \mu(x)$, then μ is f.s. with respect to y.

Proof: By Theorem 3.6, we get that μ is f.p-s. with respect to y. By (4) of Theorem 3.1, we obtain that μ is f.s. with respect to y, because of $\mu(y) = \sup_{y \in \mathbb{R}^n} \mu(x)$.

Corollary 3.4. Let μ be a fuzzy set. If $f \cdot hpy(\mu)$ of μ is star-shaped with respect to $(y, \mu(y))$, then μ is f.q-s. with respect to y.

Proof: By Theorem 3.6, we get that μ is f.p-s. with respect to y. By (2) of Theorem 3.1, we obtain that μ is f.q-s. with respect to y.

Theorem 3.7. Let $\mu_1, \mu_2 \in F(\mathbb{R}^n)$ be f.q-s. (respectively, f.p-s.) with respect to $y \in \mathbb{R}^n$. Then $\mu_1 \cap \mu_2$ is f.q-s. (respectively, f.p-s.) with respect to y.

Proof: Let $\mu_1, \mu_2 \in F(\mathbb{R}^n)$ be f.q-s. with respect to $y \in \mathbb{R}^n$. For all $x \in \mathbb{R}^n$, we have $\mu_i(\lambda x + (1 - \lambda)y) \ge \mu_i(x) \land \mu_i(y), i = 1, 2$,

for all $\lambda \in [0,1]$. Hence, we get that

$$(\mu_1 \cap \mu_2)(\lambda x + (1 - \lambda)y) = \mu_1(\lambda x + (1 - \lambda)y) \wedge \mu_2(\lambda x + (1 - \lambda)y)$$
$$\geq (\mu_1(x) \wedge \mu_1(y)) \wedge (\mu_2(x) \wedge \mu_2(y))$$
$$= (\mu_1(x) \wedge \mu_2(x)) \wedge (\mu_1(y) \wedge \mu_2(y))$$
$$= (\mu_1 \cap \mu_2)(x) \wedge (\mu_1 \cap \mu_2)(y)$$

for all $x \in \mathbb{R}^n$ and $\lambda \in [0,1]$.

Let $\mu_1, \mu_2 \in F(\mathbb{R}^n)$ be f.p-s. with respect to $y \in [\mu]^0$. For all $x \in [\mu_1 \cap \mu_2]^0 \subseteq [\mu_1]^0 \cap [\mu_2]^0$, we have

$$\mu_i(\lambda x + (1 - \lambda)y) \ge \lambda \mu_i(x) + (1 - \lambda)\mu_i(y), \quad i = 1, 2,$$

for all $\lambda \in [0,1]$. Hence, we get that

$$(\mu_1 \cap \mu_2)(\lambda x + (1 - \lambda)y) = \mu_1(\lambda x + (1 - \lambda)y) \wedge \mu_2(\lambda x + (1 - \lambda)y)$$

$$\geq (\lambda \mu_1(x) + (1 - \lambda)\mu_1(y)) \wedge (\lambda \mu_2(x) + (1 - \lambda)\mu_2(y))$$

$$= \lambda(\mu_1(x) \wedge \mu_2(x)) + (1 - \lambda)(\mu_1(y) \wedge \mu_2(y))$$

$$= \lambda(\mu_1 \cap \mu_2)(x) + (1 - \lambda)(\mu_1 \cap \mu_2)(y)$$
where $[\mu \cap \mu_2)(x) = 0$ and $\lambda \in [0, 1]$

for all $x \in [\mu_1 \cap \mu_2]^0$ and $\lambda \in [0,1]$.

Theorem 3.8. Let $\mu_1, \mu_2 \in F(\mathbb{R}^n)$ be f.q-s. (respectively, f.p-s.) with respect to $y \in \mathbb{R}^n$ and $\mu_1(y) = \mu_2(y)$. Then $\mu_1 \bigcup \mu_2$ is f.q-s. (respectively, f.p-s.) with respect to y. **Proof:** Let $\mu_1, \mu_2 \in F(\mathbb{R}^n)$ be f.q-s. with respect to $y \in \mathbb{R}^n$. For all $x \in \mathbb{R}^n$, we have $\mu_i(\lambda x + (1 - \lambda)y) \ge \mu_i(x) \land \mu_i(y), i = 1, 2$,

for all $\lambda \in [0,1]$. Thus, we get that

$$(\mu_1 \cup \mu_2)(\lambda x + (1 - \lambda)y) = \mu_1(\lambda x + (1 - \lambda)y) \lor \mu_2(\lambda x + (1 - \lambda)y)$$
$$\ge (\mu_1(x) \land \mu_1(y)) \lor (\mu_2(x) \land \mu_2(y))$$

for all $x \in \mathbb{R}^n$ and $\lambda \in [0,1]$. Since $\mu_1(y) = \mu_2(y)$, we have

$$(\mu_{1}(x) \land \mu_{1}(y)) \lor (\mu_{2}(x) \land \mu_{2}(y))$$

= $(\mu_{1}(x) \lor \mu_{2}(x)) \land (\mu_{1}(y) \lor \mu_{2}(y))$
= $(\mu_{1} \bigcup \mu_{2})(x) \land (\mu_{1} \bigcup \mu_{2})(y)$

for all $x \in \mathbb{R}^n$ and $\lambda \in [0,1]$. Hence, we obtain that

 $(\mu_1 \bigcup \mu_2)(\lambda x + (1 - \lambda)y) \ge (\mu_1 \bigcup \mu_2)(x) \land (\mu_1 \bigcup \mu_2)(y)$

for all $x \in \mathbb{R}^n$ and $\lambda \in [0,1]$

Let $\mu_1, \mu_2 \in F(\mathbb{R}^n)$ be f.p-s. with respect to $y \in [\mu]^0$. For all $x \in [\mu_1 \cup \mu_2]^0 = [\mu_1]^0 \cup [\mu_2]^0$, we have

$$\mu_i(\lambda x + (1-\lambda)y) \ge \lambda \mu_i(x) + (1-\lambda)\mu_i(y), \ i = 1,2,$$

for all $\lambda \in [0,1]$. Hence, we get that

$$(\mu_1 \cup \mu_2)(\lambda x + (1 - \lambda)y) = \mu_1(\lambda x + (1 - \lambda)y) \lor \mu_2(\lambda x + (1 - \lambda)y)$$
$$\geq (\lambda \mu_1(x) + (1 - \lambda)\mu_1(y)) \lor (\lambda \mu_2(x) + (1 - \lambda)\mu_2(y))$$

for all $x \in [\mu_1 \cup \mu_2]^0$ and $\lambda \in [0,1]$. Since $\mu_1(y) = \mu_2(y)$, we have

$$(\lambda \mu_{1}(x) + (1 - \lambda)\mu_{1}(y)) \vee (\lambda \mu_{2}(x) + (1 - \lambda)\mu_{2}(y))$$

= $\lambda (\mu_{1}(x) \vee \mu_{2}(x)) + (1 - \lambda)(\mu_{1}(y) \vee \mu_{2}(y))$
= $\lambda (\mu_{1} \bigcup \mu_{2})(x) + (1 - \lambda)(\mu_{1} \bigcup \mu_{2})(y)$

for all $x \in [\mu_1 \cup \mu_2]^0$ and $\lambda \in [0,1]$. Hence, we obtain that

$$(\mu_1 \cup \mu_2)(\lambda x + (1 - \lambda)y) \ge (\mu_1 \cup \mu_2)(x) \land (\mu_1 \cup \mu_2)(y)$$

for all $x \in [\mu_1 \cup \mu_2]^0$ and $\lambda \in [0,1]$.

Let x_0 be some point in \mathbb{R}^n and μ some fuzzy set then the translation of μ by x_0 is the fuzzy set $x_0 + \mu$ defined as $(x_0 + \mu)(x) = \mu(x - x_0)$ [13].

Theorem 3.9. Let $\mu \in F(\mathbb{R}^n)$ be f.q-s. (respectively, f.p-s.) with respect to $y \in \mathbb{R}^n$ and there is a point $x_0 \in \mathbb{R}^n$. Then $x_0 + \mu$ is f.q-s. (respectively, f.p-s.) with respect to $y + x_0$. **Proof:** Suppose μ is f.q-s. with respect to $y \in \mathbb{R}^n$. For any $x \in \mathbb{R}^n$, we get that

$$(x_{0} + \mu)(\lambda x + (1 - \lambda)(x_{0} + y)) = \mu(\lambda(x - x_{0}) + (1 - \lambda)y)$$

$$\geq \mu(x - x_{0}) \wedge \mu(y)$$

$$= (x_{0} + \mu)(x) \wedge (x_{0} + \mu)(x_{0} + y)$$

for all $\lambda \in [0,1]$. Hence, $x_0 + \mu$ is f.q-s. with respect to $x_0 + y$.

Suppose μ is f.p-s. with respect to $y \in [\mu]^0$. Let

$$A = \bigcup_{\alpha \in (0,1]} [\mu]^{\alpha} \text{ and } B = \bigcup_{\alpha \in (0,1]} [x_0 + \mu]^{\alpha}.$$

Now we show that $x \in \overline{A} = [\mu]^0$ if and only if $x + x_0 \in \overline{B} = [x_0 + \mu]^0$. Let $x \in \overline{A} = [\mu]^0$. If $x \in A$, then there exists $\alpha \in (0,1]$ such that $x \in [\mu]^{\alpha}$, that is, $\mu(x) \ge \alpha$. Thus, we have $(x_0 + \mu)(x + x_0) = \mu(x + x_0 - x_0) = \mu(x) \ge \alpha$,

that is, $x + x_0 \in [x_0 + \mu]^{\alpha} \subseteq B$. If $x \in [\mu]^0 - A$, that is, $\mu(x) = 0$, then for each neighborhood *V* of *x*, we have $V \cap A \neq \phi$. Since the mapping $f(x) = x + x_0$ is continuous in *x*, for each neighborhood *U* of $x + x_0$ in \mathbb{R}^n , there exists a neighborhood *V* of *x* such that if $z \in V$, then $z + x_0 \in U$. Since $V \cap A \neq \phi$, let $z \in V \cap A$. Then, we have $z + x_0 \in U \cap B$,

which implies that $x + x_0 \in \overline{B} = [x_0 + \mu]^0$. Similarly, we can get that if $x + x_0 \in \overline{B} = [x_0 + \mu]^0$, then $x \in \overline{A} = [\mu]^0$. Hence, $y + x_0 \in [x_0 + \mu]^0$, and for any $x \in [x_0 + \mu]^0$, we have $x - x_0 \in [\mu]^0$. Since μ is f.p-s. with respect to y, we get that

$$(x_0 + \mu)(\lambda x + (1 - \lambda)(x_0 + y)) = \mu(\lambda(x - x_0) + (1 - \lambda)y)$$

$$\geq \lambda \mu(x - x_0) + (1 - \lambda)\mu(y)$$

$$= \lambda(x_0 + \mu)(x) + (1 - \lambda)(x_0 + \mu)(y + x_0)$$

for all $x \in [x_0 + \mu]^0$ and $\lambda \in [0,1]$. Hence, we obtain that $x_0 + \mu$ is f.p-s. with respect to $x_0 + y$.

Remark 3.4. Since the property of being star-shaped is translation invariant in \mathbb{R}^n , this proposition also holds for fuzzy general star-shapedness.

Let *T* be a linear invertible transformation on \mathbb{R}^n and μ a fuzzy set. Then by the Extension Principle we have that $(T(\mu))(x) = \mu(T^{-1}(x))$ [22].

Theorem 3.10. Let $\mu \in F(\mathbb{R}^n)$ be f.q-s. (respectively, f.p-s.) with respect to $y \in \mathbb{R}^n$ and *T* a linear invertible transformation on \mathbb{R}^n . Then $T(\mu)$ is f.q-s. (respectively, f.p-s.) with respect to T(y).

Proof: Suppose μ is f.q-s. with respect to $y \in \mathbb{R}^n$. For any $x \in \mathbb{R}^n$, we get that

$$(T(\mu))(\lambda x + (1 - \lambda)(x_0 + y)) = \mu(\lambda T^{-1}(x) + (1 - \lambda)y)$$

$$\geq \mu(T^{-1}(x)) \wedge \mu(y)$$

$$= (T^{-1}(\mu))(x) \wedge (T(\mu))(T(y))$$

for all $\lambda \in [0,1]$. Hence, $T(\mu)$ is f.q-s. with respect to T(y).

Suppose μ is f.p-s. with respect to $y \in [\mu]^0$. Let

$$A = \bigcup_{\alpha \in (0,1]} [\mu]^{\alpha}$$
 and $B = \bigcup_{\alpha \in (0,1]} [T(\mu)]^{\alpha}$.

Now we show that $x \in \overline{A} = [\mu]^0$ if and only if $T(x) \in \overline{B} = [T(\mu)]^0$. Let $x \in \overline{A} = [\mu]^0$. If $x \in A$, then there exists $\alpha \in (0,1]$ such that $x \in [\mu]^{\alpha}$, that is, $\mu(x) \ge \alpha$. Thus, we have $(T(\mu))(T(x)) = \mu(x) \ge \alpha$,

that is, $T(x) \in [T(\mu)]^{\alpha} \subseteq B$. If $x_0 \in [\mu]^0 - A$, that is, $\mu(x_0) = 0$, then for each neighborhood V of x_0 , we have $V \cap A \neq \phi$. Since T a linear invertible transformation on \mathbb{R}^n , for each neighborhood U of $T(x_0)$ in \mathbb{R}^n , there exists a neighborhood V of x_0 such that if $x \in V$, then $T(x) \in U$. Since $V \cap A \neq \phi$, let $x \in V \cap A$. Then, we have $T(x) \in U \cap B$, which implies that $T(x_0) \in \overline{B} = [T(\mu)]^0$. Similarly, we can get that if $T(x) \in \overline{B} = [T(\mu)]^0$, then $x \in \overline{A} = [\mu]^0$. Hence, $T(y) \in [T(\mu)]^0$, and for any $x \in [T(\mu)]^0$, we have $T^{-1}(x) \in [\mu]^0$. Since μ is f.p-s. with respect to y, we get that

$$(T(\mu))(\lambda x + (1 - \lambda)T(y)) = \mu(\lambda(T^{-1}(x)) + (1 - \lambda)y)$$

$$\geq \lambda\mu(T^{-1}(x)) + (1 - \lambda)\mu(y)$$

$$= \lambda(T(\mu))(x) + (1 - \lambda)(T(\mu))(T(y))$$

for all $x \in [T(\mu)]^0$ and $\lambda \in [0,1]$. Hence, we obtain that $T(\mu)$ is f.p-s. with respect to T(y).

Remark 3.5. Since rotation and mirror image transformation are linear invertible transformations, this proposition holds for them. Moreover, the linear invertible transformation invariant of the star-shapedness of the ordinary star-shaped set in \mathbb{R}^n , this proposition also holds for fuzzy general star-shapedness.

For a star-shaped fuzzy set $\mu \in F(\mathbb{R}^n)$, if for any $\alpha, \beta \in [0,1], \alpha \leq \beta$, we have that $\ker[\mu]^{\beta} \subseteq \ker[\mu]^{\alpha}$. Define a fuzzy set $f \ker(\mu)$ by $[f \ker(\mu)]^{\alpha} = \ker[\mu]^{\alpha}$ [22].

Theorem 3.11. If a fuzzy set $\mu \in F(\mathbb{R}^n)$ is f.s. with respect to $y \in \mathbb{R}^n$, then $f \ker(\mu)$ is a quasi-convex fuzzy set.

Proof: Since the kernel ker $[\mu]^{\alpha}$ of $[\mu]^{\alpha}$ is convex set for all $\alpha \in [0,1]$, we have that $f \operatorname{ker}(\mu)$ is a fuzzy quasi-convex set, because of a fuzzy set is quasi-convex if and only if its nonempty cut sets are convex sets.

Thoerem 3.12. Let μ be a fuzzy set. Then ker(μ) is a convex set in \mathbb{R}^n .

Proof: If $[\mu]^0 = \phi$, then $\mu(x) = 0$ for all $x \in \mathbb{R}^n$, which implies that ker $(\mu) = \mathbb{R}^n$. Thus, we have ker (μ) is a convex set. If ker $(\mu) = \phi$, it is obvious that ker (μ) is a convex set. Suppose $[\mu]^0 \neq \phi$ and ker $(\mu) \neq \phi$. Let $\beta = \sup_{x \in \mathbb{R}^n} \mu(x)$ and $y_1, y_2 \in \text{ker}(\mu)$. By Lemma 3.4, we have $y_1, y_2 \in \text{ker}[\mu]^{\alpha}$ for all $\alpha \in [0, \beta]$. Since ker $[\mu]^{\alpha}$ is convex set for all $\alpha \in [0, \beta]$, we have $\overline{y_1 y_2} \subseteq \text{ker}[\mu]^{\alpha}$ for all $\alpha \in [0, \beta]$, which implies that $\overline{y_1 y_2} \subseteq \bigcap_{\alpha \in [0, \beta]} \text{ker}[\mu]^{\alpha}$. By Lemma 3.3, we have ker $(\mu) = \bigcap_{\alpha \in [0, \beta]} \text{ker}[\mu]^{\alpha}$. Thus, we get that $\overline{y_1 y_2} \subseteq \text{ker}(\mu)$. Hence, we obtain that ker (μ) is a convex set in \mathbb{R}^n .

Remark 3.6. The conclusion of Theorem 3.12 does not hold for f.q-s. set.

Example 3.4. Let $S^n = \{(x_1, x_2, \dots, x_n) \in \mathbb{R}^n : x_1^2 + x_2^2 + \dots + x_n^2 = 1\}$. Define the fuzzy set $\mu \in F(\mathbb{R}^n)$ as

$$\mu(x_1, x_2, \dots, x_n) = \begin{cases} 0.5, & \text{if } (x_1, x_2, \dots, x_n) \in S^n, \\ 0, & \text{otherwise.} \end{cases}$$

Then μ is f.q-s. set and f.p-s. set but its $q - \ker(\mu) = \mathbb{R}^n - S^n$ and $p - \ker(\mu) = \mathbb{R}^n - S^n$ are not convex.

Theorem 3.13. If a fuzzy set $\mu \in F(\mathbb{R}^n)$ is f.s. with respect to *y* and is upper semicontinu- ous, then ker(μ) is closed in \mathbb{R}^n .

Proof: If $[\mu]^0 = \phi$, then $\mu(x) = 0$ for all $x \in \mathbb{R}^n$, which implies that $\ker(\mu) = \mathbb{R}^n$, it is obvious that $\ker(\mu)$ is closed. Suppose $[\mu]^0 \neq \phi$. Let $\beta = \sup_{x \in \mathbb{R}^n} \mu(x)$. For arbitrary given $\alpha \in (0, \beta]$, if $y_0 \in \overline{\ker[\mu]^{\alpha}}$, then for each neighborhood V of y_0 , we have $V \cap \ker[\mu]^{\alpha} \neq \phi$. Choose $\lambda x + (1 - \lambda) y_0$ with $\lambda \in [0, 1]$, where $x \in [\mu]^{\alpha}$. Since the mapping $f(y) = \lambda x + (1 - \lambda) y$

Is continuous in y_0 , for each neighborhood U of $\lambda x + (1 - \lambda) y_0$ in \mathbb{R}^n , there exists a neighborhood V of y_0 such that if $y \in V$, then $\lambda x + (1 - \lambda) y \in U$. Since $V \cap \ker[\mu]^{\alpha} \neq \phi$, let $y \in V \cap \ker[\mu]^{\alpha}$. Then we have $\lambda x + (1 - \lambda) y \in U \cap [\mu]^{\alpha}$, which implies that $\mu(\lambda x + (1 - \lambda) y) \ge \alpha$. Since μ is upper semi-continuous, we get that

$$\mu(\lambda x + (1 - \lambda)y_0) \ge \alpha$$

That is, $\lambda x + (1 - \lambda) y_0 \in [\mu]^{\alpha}$. Thus, we have that $[\mu]^{\alpha}$ is star-shaped with respect to y_0 , i.e., $y_0 \in \ker[\mu]^{\alpha}$. Hence, we get that $\ker[\mu]^{\alpha}$ is closed in \mathbb{R}^n for all $\alpha \in (0, \beta]$, that is, $\bigcap_{\alpha \in (0,\beta]} \ker[\mu]^{\alpha}$ is closed in \mathbb{R}^n . For any $y \in \bigcap_{\alpha \in (0,\beta]} \ker[\mu]^{\alpha}$, we get that

$$y \in \bigcup_{\alpha \in (0,\beta]} [\mu]^{\alpha}$$

and $\bigcup_{\alpha \in (0,\beta]} [\mu]^{\alpha}$ is star-shaped with respect to *y*. By Lemma 3.2, we have that

$$[\mu]^{0} = \bigcup_{\alpha \in (0,1]} [\mu]^{\alpha} = \bigcup_{\alpha \in (0,\beta]} [\mu]^{\alpha}$$

is star-shaped with respect to y, that is, $y \in \ker[\mu]^0$. Thus, we have

$$\bigcap_{\alpha\in(0,\beta]} \ker[\mu]^{\alpha} \subseteq \ker[\mu]^{0}.$$

Hence, by Lemma 3.3, we obtain that

$$\ker(\mu) = \bigcap_{\alpha \in [0,\beta]} \ker[\mu]^{\alpha} = \bigcap_{\alpha \in (0,\beta]} \ker[\mu]^{\alpha},$$

Is closed in \mathbb{R}^n .

4. Conclusions

In this paper, we have considered the star-shaped fuzzy sets. We have discuss relationships among the concepts of star-shaped fuzzy sets, quasi-star-shaped fuzzy sets, pseudo-starshaped fuzzy sets and generalized star-shaped fuzzy star-shaped sets. Fuzzy star-shaped sets were defined above as a generalisation of fuzzy convex fuzzy sets. In [21], Qiu have extended convexity in important ways and have got that some propositions are untrue for fuzzy convex sets for f.s. set. For f.p-s. set and f.q-s. set, we also have obtained that some corresponding propositions, for example, the intersection of two f.q-s. (respectively, f.p-s.) sets is also f.q-s. (respectively, f.p-s.) set and the unions of two f.q-s. (respectively, f.p-s.) sets is also f.q-s. (respectively, f.p-s.) set and they have the same membership function values for the common kernel points.

Acknowledgements

This work was supported by The National Natural Science Foundation of China (Grant no.11201512) and The Natural Science Foundation Project of CQ CSTC (cstc2012jjA000 01).

REFERENCES

- 1. E. Ammar and J. Metz, On fuzzy convexity and parametric fuzzy optimization, *Fuzzy Sets and Systems*, 49 (1992) 135-141.
- 2. J. G. Brown, A note on fuzzy sets, Information and Control, 18 (1971) 32-39.
- J. Chanussot, I. Nyström and Nataša Sladoje, Shape signatures of fuzzy star-shaped sets based on distance from the centroid, *Pattern Recognition Letters*, 26 (2005) 735-746.
- 4. Y. Chalco-Cano, M. A. Rojas-Medar and R. Osuna-Gomez, s-Convex fuzzy processes, *Computers and Mathematics with Applications*, 47 (2004) 1411-1418.
- 5. J. Chen, Y. R. Syau and C. J. Ting, Convexity and semicontinuity of fuzzy sets, *Fuzzy Sets and Systems*, 143 (2004) 459-469.
- 6. P. Diamond and P. Kloeden, Characterization of compact subsets of fuzzy sets, *Fuzzy Sets and Systems*, 29 (1989) 341-348.
- 7. P. Diamond and P. Kloeden, Metric spaces of fuzzy sets, *Fuzzy Sets and Systems*, 35 (1990) 241-249.
- 8. P. Diamond and P. Kloeden, Metric spaces of fuzzy sets: corrigendum, *Fuzzy Sets* and Systems, 45 (1992) 123.
- 9. P. Diamond, A note on fuzzy starshaped sets, *Fuzzy Sets and Systems*, 37 (1990) 193-199.
- 10. W. Fulton, Algebraic Topology: A First Course, Springer, New York, 1995.
- 11. J. B. Hiriart-Urruty and C. Lemarchal, *Fundamentals of Convex Analysis*, Springer, Berlin, 2001.
- 12. H. Huang and C. X. Wu, A new characterization of compact sets in fuzzy number spaces, *Abstract and Applied Analysis Volume 2013*, *Article ID 820141*, 6 pages.
- 13. A. K. Katsaras and D. B. Liu, Fuzzy vector spaces and fuzzy topological vector spaces, *Journal of Mathematical Analysis and Applications*, 58 (1977) 135-147.
- 14. E. P. Klement, M. L. Puri and D. A. Ralescu, Limit theorems for fuzzy random variables, *Proceedings of The Royal Society of London*. Series A 407 (1986) 171-182.
- 15. Z. H. Liao, C. Y. Hao and X. Y. Zhu, $(\in, \in \lor_{q(\lambda,\mu)})$ -starshaped fuzzy sets, 2012 Fifth International Conference on Information and Computing Science, (2012) 124-127.
- Z. H. Liao, C. Y. Hao, W. L. Liu and C. Z. Liu, R-generalized starshaped fuzzy sets, 2012 Fifth International Conference on Information and Computing Science, (2012) 120-123.
- 17. Y. M, Liu. Some properties of convex fuzzy sets, *Journal of Mathematical Analysis* and *Applications*, 111 (1985) 119-129.
- 18. R. Lowen, Convex fuzzy sets, Fuzzy Sets and Systems, 3 (1980) 291-310.
- 19. M. Matloka, Convex fuzzy processes, Fuzzy Sets and Systems, 110 (2000) 109-114.
- 20. M. Ma, Some notes on the characterization of compact sets in (E_n, d_p) , Fuzzy Sets and Systems, 56 (1993) 297-301.
- 21. D. Qiu, C. X. Lu, On star-shapedness of fuzzy sets, Wulfenia, 2014 Accepted.

- 22. D. Qiu, L. Shu and Z. W. Mo, On starshaped fuzzy sets, *Fuzzy Sets and Systems*, 160 (2009) 1563-1577.
- 23. D. Qiu, F. P. Yang and L. Shu, On convex fuzzy processes and their generalizations, *International Journal of Fuzzy Systems*, 12 (2010) 267-172.
- 24. R. T. Rockafellar, *Convex Analysis* (second printing), Princeton University Press, *Princeton*, 1972.
- 25. A. Shveidel, Separability of star-shaped sets and its application to an optimization problem, *Optimization*, 40 (1997) 207-227.
- 26. Y. Syau, C. Low and T. Wu, A note on convex fuzzy processes, *Applied Mathematics Letters*, 15 (2002) 193-196.
- 27. Y. R. Syau, Closed and convex fuzzy sets, *Fuzzy Sets and Systems*, 110 (2000) 287-291.
- 28. C. Wu and Z. Zhao, Some notes on the characterization of compact sets of fuzzy sets with *L_p* metric, *Fuzzy Sets and Systems*, 159 (2008) 2104-2115.
- 29. W. H. Xu, Y. F. Liu and W. X. Sun, On starshaped intuitionistic fuzzy sets, *Applied Mathematics*, 2011 (2011) 1051-1058.
- 30. W. H. Xu, W. X. Sun and Y. F. Liu, The research of several propositions on starshaped fuzzy sets, *Operations Research and Fuzziology*, 2011 (2011) 6-10.
- 31. X. M. Yang and F. M. Yang, Aproperty on convex fuzzy sets, *Fuzzy Sets and Systems*, 126 (2002) 269-271.
- 32. L. A. Zadeh, Fuzzy sets, Information and Control, 8 (1965) 338-353.
- 33. Z. T. Zhao and C. X. Wu, A characterization for compact sets in the space of fuzzy star-shaped numbers with L_p metric, Abstract and Applied Analysis Volume 2013, Article ID 627314, 6 pages.